Section |

State whether the following statements are True or False (1 Mark Each)

(i) The bi conditional statement p «» q is false when both p and q are false. {"
(i) The value of 1.0+ (0_+l) is 0.

(ifi) If n is odd integer, then n? is odd.
(iv) The seventh term ag of the sequence defined by the recurrence relation and initial conditions,

an=an-1—an_2+an_3,ao=1,a1=1,a2=2isl. ,6/6,
(v) If f1(x) and f2(x) are both O(g(x)). Then (f1+2)(x) is O(g(x)).

Question (i) (i) ‘ (i) \ vy — \ )
’ ’ — 2
Answer Fa ’55 T YT \ TYM.@ \ }—/y \ ’\ \\/\/(/4
/ Section Il
From the following choose the correct answer (1 Mark Each)
Ll the negation of the statement ~%—> qis: —ﬂ;\(\i/’\\/P:j?Cc>
(a) pAq (b)pA~q 25
2.Derive the Boolean expression for the loglc circuit shown below: . o) ‘
L P17 F ] A -4l~raa
L e by TLA L T\F |
= 1> T\F |LF T
* S ANAR AtA
\ T § VY L C
‘ y : 8 ;
(a) Xy + xz (c)x¥+xz  (d) None of above 3 . r
Y B A (;,1 Y 4
3. Universal quantifier is denoted by — ()/\([ ) L/L /T;f( (- A BT T
J r_q / — r
‘ (b)u  (c)3  (d)None Y / Fo) b e
“PA-a F,

4. Let Abe a3 X 4 matrix, Bbe a 4 § i ?b 6 4b>c<b>e<3é X 4 matrix. Determine wh\ch of the

Scanned by CamScanner


Manouolah
Typewritten Text

Manouolah
Typewritten Text

Manouolah
Typewritten Text

Manouolah
Typewritten Text

Manouolah
Typewritten Text

Manouolah
Typewritten Text
S130040XXX


v
‘.

-, »
- d l'g - 5 '

L -

- u'wwlmhﬂ Ministry of Higher Fducation

Sa
Jon ‘N udi £ '
f Vaxz .C'fon'c Uﬂ'v.f'"y Saudi lectromic l'nhf"((’

College of Computing and Informatics

followi
wing Products s notdefined ?

(a)Ag (b)AC  ((c)ca! (g)ca.

5. which of these functions is not o(x?).
(a) f(x)=17x +11 (b)f(x)=x"+1000 (c) f(x)= xlogx \L V(dr)'.(l‘)“‘/i

6. convert ( 204 ) 10 to base 2.

(a)1ooo1ood\';b_)1idaﬂoa (c)00001111  ( d)00000000 = /é

7. The prime factorization of 56 is

ey

L@E\ ) (b) 22.7 ()72 (d)None
P
Question 1 . 2 3 4 / 5 6 ]7 \
Answer d b A _ /C, A b /\ A _J
Section il
(3 Marks Each)

Attempt all questions

1. Build a digital circuit that produces the output (p V—r) A(—p V(q v—r)) when

STIB4ERKX

Solutions:
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2.letA = [(1) :]and Bm [‘1’ (‘)] Find

(a) AvB (b) AGB.
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3. List all the stgiugﬁﬁzme sequence 1,3, 4,5, 6, 8,9, 11 for both a linear search and a

binary search.
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4, i
(a) Use the Euclidean algorithm to find ged(34, 21).

(b)what is the decimal ex

§in§o®(6t2f GW 10101}111); as its binary expansion
Q) 5@%3%2’)% |

3L\—_2_\_’+13
\C‘j s
2=13-145
$ ~,__V, s
i
J—% ( 5
BeiE. | 3
B w55 1 “7/9/
L= H?’;%?’gcj )
=72-141F
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